restart

Ecua = x-log(x) Y —y=x- (3-log(x) — 1)
Ecua = x In(x) (% y(x)) —y(x) =x (3In(x) —1)

EcuaDos = expand lhs(Ecua) _ rhs(Ecua)
x-log(x) x-log(x)

d y(x) 2 X
EcuaDos = & y(x)— ————=3x — ———

x In(x) In(x)
=1
P xlog(x)
o 1
P x In(x)
q = rhs(EcuaDos)
q:=3 K- x

In(x)

IntPx = int(p, x)
IntPx == —In(In(x))

IntPxNeg := —int(p, x)
IntPxNeg := In(In(x))

ExpIntPx := exp(IntPx)

ExpIntPx = In(x)

ExpIntPxNeg := exp( (IntPxNeg))
ExplntPxNeg := In(x)

ProdExplntPx := expand(ExpIntPx-q)

3,2 2
ProdExpIntPx := AR 5
In(x)  In(x)
IntProdExp := int(ProdExpIntPx, x)
3
x
IntProdExp =
ntProdExp In(x)

SolPartQ = y(x) =exp([ntPxNeg) -int(exp (IntPx)-q, x)
SolPartQ = y(x) =x

SolGralHom = y(x) = _CI-exp(—IntPx)
SolGralHom := y(x) =_CI In(x)

SolGralNoHom = y(x) =rhs(SolGralHom) + rhs(SolPartQ)
SolGralNoHom = y(x) =_CI In(x) + X
restart

Ecua = diff (x(y),y) =cos(y)-x(y) + sin(2-y)

Ecua = d_y x(y) =cos(y) x(y) +sin(2y)
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EcuaDos = diff (x(y),y) — cos(y) -x(y) =sin(2-y)

EcuaDos = diy x(y) — cos(y) x(¥) =sin(2 y)

p=—cos(y); ¢ i=sin(2-y)
p i=—cos(y)
q =sin(2y)
IntPy := int(p, y)
IntPy := —sin(y)
SolGralHom = x(y) = _CI-exp(—IntPy) _
SolGralHom = x(y) =_C1 &
SolPartQ = x(y) = expand(exp( — IntPy) -int(exp (IntPy)-q,y))
SolPartQ = x(y) = —2sin(y) — 2
SolGralNoHom = x(y) =rhs(SolGralHom) + rhs(SolPartQ)
SolGralNoHom = x(y) = _CI ") — 2sin(y) — 2

1
x-cos(y) + sin(2-y)

EcuaOrig == y'=
1

v L =
EcuaOrig = dx y(x) x cos(y(x)) + sin(2 y(x))

SolOrig = x=_CI-exp(sin(y(x))) — 2-sin(y(x)) — 2
SolOrig = x=_C1 &™) — 2 sin(y(x)) — 2

DerSolOrigX := isolate(diff (SolOrig, x), diff (y(x), x))
1

DerSolOrigX = % y(x)=—

Para = isolate(SolOrig, CI)
—x—2sin(y(x)) —2

Para = Cl=— .
- esm(Y(x))

DerOrigDos = simplify(subs(_CI =rhs(Para), DerSolOrigX) )
sec(y(x))
x+ 2sin(y(x))
)

DerOrigDos = % y(x) =

Comprobar = simplify(rhs(EcuaOrig) — rhs(DerOrigDos)) =0
Comprobar == 0=0

— Cl cos(y(x)) ™) + 2 cos(y(x))
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